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Use lattice multiplication to solve each problem.

1)
69 × 48 =

6 9

4

8

2 3

4 7

1 2

4 6

8

3

3 2

2)
83 × 43 =

8 3

4

3

3 1

2 0

6 9

2 2

4

3

5 9

3)
15 × 17 =

1 5

1

7

0 0

0 3

5 5

1 5

7

0

2 5

4)
28 × 18 =

2 8

1

8

0 0

1 6

0 4

2 8

6

0

5 4

5)
68 × 12 =

6 8

1

2

0 0

1 1

1 6

6 8

2

0

8 6

6)
22 × 48 =

2 2

4

8

0 0

1 1

5 6

8 8

6

1

0 6

7)
84 × 26 =

8 4

2

6

1 0

4 2

8 4

6 8

8

2

1 4

8)
75 × 82 =

7 5

8

2

5 4

1 1

5 0

6 0

4

6

1 0

9)
25 × 86 =

2 5

8

6

1 4

1 3

5 0

6 0

2

2

1 0

10)
82 × 91 =

8 2

9

1

7 1

0 0

6 2

2 8

8

7

4 2

11)
20 × 42 =

2 0

4

2

0 0

0 0

4 0

8 0

4

0

8 0

12)
46 × 37 =
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Answers

1. 3,312

2. 3,569

3. 255

4. 504

5. 816

6. 1,056

7. 2,184

8. 6,150

9. 2,150

10. 7,462

11. 840

12. 1,702
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